	Solo	Free Dance			Level:	1
Competition:	Inclusive Skating Virt	ual World Championships	2024		•	
Skater:	Lyra Morton	Sex:	Lady		١	ТМ
Age January 1st:	10	Age category:	Pre-Novice			
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIMI	in u
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	ıl Use Only	
Level 1						
Pose (3 to 6 seconds)			1	0.333	0.7	0.233
Step sequence (straig	ht line, basic F 3 turns, I	x rolls etc)	1.1	0.367	0.3	0.110
Spin (1 or 2 foot, uprig	ght)		1	0.333	0.05	0.017
Total Technical Ele	ments		Total judges sco	re for elements	0.360	
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (6 x WPI)		6	0.00%	0.00%	0.000
Technical Skating S	Skills (Factor x Score)		1		0.35	0.350
Artistic Performanc	e & Execution (Factor	x Score)	1		0.5	0.500
Deductions						0.00
		_	Total Sc	ore for Per	formance	1.21
	Programme durat	ion (min): 1.5	Time Adjusted	l Championship Wo	orld Ranking Score	0.81

	Solo	Free Dance			Level:	1
Competition:	Inclusive Skating Virtu	al World Championships	2024		•	
Skater:	Nikki Sibeon	Sex:	Lady		١	ТМ
Age January 1st:	33	Age category:	Senior			-
Club:		Country:	UK		INCLUS	
Paralympic Class:	Visual	Facilitation:	Independent		SKATI	
Support needed:	Off-ice			_	JIMI	ind
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Officia	ıl Use Only		
Level 1						
Pose (3 to 6 seconds)	Pose (3 to 6 seconds)			0.333	2.25	0.749
Step sequence (straig	ht line, basic F 3 turns, F	x rolls etc)	1.1	0.367	0.3	0.110
Spin (1 or 2 foot, uprig	pht)		1	0.333	0.65	0.216
Total Technical Ele	ments		Total judges sco	ore for elements		1.075
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (6 x WPI)		6	35.00%	35.00%	2.100
Technical Skating S	Skills (Factor x Score)		,		1.6	1.600
Artistic Performance & Execution (Factor x Score)					2.4	
Deductions						0.00
			Total Sc	ore for Per	formance	7.18
	Programme durati	on (min): 1.5	Time Adjusted	d Championship Wo	orld Ranking Score	4.78

	Solo	Free Dance			Level:	1
Competition:	Inclusive Skating Virt	ual World Championships 2	2024		•	
Skater:	Wynter East	Sex:	Lady		ی	TM
Age January 1st:	7	Age category:	Pre-Novice			\supset
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	None				JIMI	1110
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements For Official Use Only						
Level 1						
Pose (3 to 6 seconds)	Pose (3 to 6 seconds)			0.333	2	0.666
Step sequence (straig	ht line, basic F 3 turns, F	x rolls etc)	1.1	0.367	0.35	0.128
Spin (1 or 2 foot, uprig	ht)			0.333	0.6	0.200
Total Technical Elei	ments		Total judges sco	ore for elements		0.994
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (6 x WPI)		(0.00%	0.00%	0.000
Technical Skating S	kills (Factor x Score)		,	1	0.7	0.700
	e & Execution (Factor	x Score)		1	0.8	0.800
Deductions						0.00
			Total Sc	ore for Per	formance	2.49
	Programme durat	ion (min): 1.5	Time Adjuste	d Championship Wo	orld Ranking Score	1.66

	Solo	Free Dance			Level:	1
Competition:	Inclusive Skating Virt	ual World Championships	2024		•	
Skater:	Callum Mills	Sex:	Gentleman		ی	ТМ
Age January 1st:	25	Age category:	Senior			
Club:		Country:	UK		INCLUS	
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIMI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements For Official Us					I Use Only	
Level 1						
Pose (3 to 6 seconds)	Pose (3 to 6 seconds)			0.333	2.8	0.932
Step sequence (straig	ht line, basic F 3 turns, F	x rolls etc)	1.1	0.367	3	1.101
Spin (1 or 2 foot, uprig	jht)		1	0.333	1.8	0.599
Total Technical Ele	ments		Total judges sco	ore for elements		2.632
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (6 x WPI)		6	53.00%	53.00%	3.180
Technical Skating S	Skills (Factor x Score)		,		1.6	1.600
Artistic Performanc	e & Execution (Factor	x Score)			2.2	2.200
Deductions						0.00
			Total Sc	ore for Per	formance	9.61
	Programme durat	ion (min): 1.5	Time Adjusted	d Championship Wo	orld Ranking Score	6.41

	Solo F	ree Dance			Level:	1	
Competition:	Inclusive Skating Virtual W	orld Championships 2	2024		•	220.000	
Skater:	Angelika Stanieczko	Sex:	Lady		١	ТМ	
Age January 1st:	43	Age category:	Master			\supset	
Club:		Country:	UK		INCLUS		
Paralympic Class:	Unified	Facilitation:	Independent		SKAT		
Support needed:	None				JIMI	ind	
			IJS Base	Technical	Grade of Execution	Mark awarded	
Elements For Official Use Only							
Level 1							
Pose (3 to 6 seconds)			1	0.333	1.25	0.416	
Step sequence (straig	ht line, basic F 3 turns, Fx rol	ls etc)	1.1	0.367	0.9	0.330	
Spin (1 or 2 foot, uprig		,	1	0.333	0.5	0.167	
			I=				
Total Technical Eler	ments		Total judges sco		I	0.913	
			Factor	WPI	WPI incl age		
Impairment Compe	nsation (6 x WPI)		6	0.00%	3.00%	0.180	
Technical Skating S	skills (Factor x Score)		1		0.9	0.900	
Artistic Performance & Execution (Factor x Score)			1		1	1.000	
Deductions						0.00	
	Total Score for Performance						
	Programme duration (r	nin): 1.5	Time Adjusted	Championship Wo	orld Ranking Score	2.00	

	Solo	Free Dance			Level:	1
Competition:	Inclusive Skating Virtu	al World Championships 2	2024		•	
Skater:	Mary Ferrie	Sex:	Lady		ع	ТМ
Age January 1st:	52	Age category:	Master			\supset
Club:		Country:	UK		INCLUS	
Paralympic Class:	Physical	Facilitation:	Independent		SKAT	
Support needed:	None				Jitan	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	ıl Use Only	
Level 1						
Pose (3 to 6 seconds)			1	0.333	3.05	1.016
Step sequence (straig	ht line, basic F 3 turns, F	x rolls etc)	1.1	0.367	2.85	1.046
Spin (1 or 2 foot, uprig	ıht)		1	0.333	0.85	0.283
Total Technical Elei	ments		Total judges sco	ore for elements		2.345
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (6 x WPI)		6	7.00%	18.16%	1.090
Technical Skating S	Skills (Factor x Score)		,		2.25	2.250
Artistic Performance & Execution (Factor x Score)			,		2.5	2.500
Deductions						0.00
			Total Sc	ore for Per	formance	8.18
	Programme duration	on (min): 1.5	Time Adjusted	d Championship Wo	orld Ranking Score	5.46

	Solo Fr	ee Dance			Level:	2
Competition:	Inclusive Skating Virtual Wor	ld Championships	2024		•	
Skater:	Tim Barnsley	Sex:	Gentleman		٢	TM
Age January 1st:	43	Age category:	Master			\supset
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	
Support needed:	None				Jimi	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Officia	I Use Only		
Level 2					-	
Pose (3 to 6 seconds)			1.5	0.5	4.1	2.050
Step sequence (straigh	nt line, basic F 3 turns, Fx rolls	etc)	1.5	0.5	1.05	0.525
One position spin (no	change of foot)		1.5	0.5	3.2	1.600
Total Technical Elen	nents		Total judges sco	re for elements		4.175
			Factor	WPI	WPI incl age	
Impairment Comper	nsation (9 x WPI)		9	0.00%	3.00%	0.270
Technical Skating S	kills (Factor x Score)		1.5		1.2	1.800
Artistic Performance	e & Execution (Factor x Sco	re)	1.5		1.6	2.400
Deductions		•				0.00
	_	_	Total Sc	ore for Per	formance	8.65
	Programme duration (mir	ı): 1.5	Time Adjusted	Championship Wo	orld Ranking Score	5.76

	Solo	Free Dance			Level:	2
Competition:	Inclusive Skating Virt	ual World Championships 2	2024		•	(2009)
Skater:	Linzi Barber	Sex:	Lady		ر	TM
Age January 1st:	45	Age category:	Master			-
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	None				JIMI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements For Official Use Only						
Level 2						
Pose (3 to 6 seconds)			1.5	0.5	3.75	1.875
Step sequence (straigh	nt line, basic F 3 turns, l	x rolls etc)	1.5	0.5	2.5	1.250
One position spin (no	change of foot)	,	1.5	0.5	1	0.500
Total Technical Eler	nents		Total judges scor	re for elements		3.625
			Factor	WPI	WPI incl age	
Impairment Comper	nsation (9 x WPI)		9	0.00%	5.00%	0.450
Technical Skating S	kills (Factor x Score)		1.5		2.1	3.150
Artistic Performance & Execution (Factor x Score)			1.5		2.3	3.450
Deductions						0.00
	Total Score for Performance					
	Programme durat	ion (min): 1.5	Time Adjusted	Championship Wo	rld Ranking Score	7.12

	Solo Fr	ee Dance			Level:	2	
Competition:	Inclusive Skating Virtual Wo	rld Championships	2024		•	(2009)	
Skater:	Katelyn Farrenson	Sex:	Lady		٢	TM	
Age January 1st:	47	Age category:	Master			\supset	
Club:		Country:	UK		INCLUS		
Paralympic Class:	Unified	Facilitation:	Independent		SKAT		
Support needed:	None				Jimi		
					Grade of		
			IJS Base	Technical	Execution	Mark awarded	
	Elements For Official Use Only						
Level 2							
Pose (3 to 6 seconds)	Pose (3 to 6 seconds)			0.5	2.5	1.250	
Step sequence (straigh	nt line, basic F 3 turns, Fx rolls	etc)	1.5	0.5	1.7	0.850	
One position spin (no c	change of foot)		1.5	0.5	1.25	0.625	
Total Technical Elen	nents		Total judges sco	re for elements		2.725	
			Factor	WPI	WPI incl age		
Impairment Compen	sation (9 x WPI)		9	0.00%	7.00%	0.630	
Technical Skating S	kills (Factor x Score)		1.5		1.4	2.100	
Artistic Performance	& Execution (Factor x Sco	ore)	1.5		1.15	1.725	
Deductions						0.00	
	Total Score for Performance						
	Programme duration (mi	n): 1.5	Time Adjusted	Championship Wo	rld Ranking Score	4.79	

	Solo F	ree Dance			Level:	3
Competition:	Inclusive Skating Virtual W	orld Championships 20	024		•	
Skater:	Amelia Jones	Sex:	Lady		ارم	ТМ
Age January 1st:	13	Age category:	Advanced-Novice			-
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	None				JIMI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements	Elements For Official Use Only					
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			3.1	1.033	3.7	3.822
Pose (3 to 6 seconds)			2	0.667	2.6	1.734
Step sequence (straigh	t line, full ice surface, basic	F + B 3 turns etc)	2.6	0.867	1.3	1.127
One position Dance Sp	in (no change of foot)		2.6	0.867	3.2	2.774
Total Technical Elem	ents		Total judges scor	re for elements		9.457
			Factor	WPI	WPI incl age	
Impairment Compen	sation (20 x WPI)		20	0.00%	0.00%	0.000
Technical Skating Sk	ills (Factor x Score)		1.5		1.5	2.250
	& Execution (Factor x So	core)	1.5		1.3	1.950
Deductions						0.00
Total Score for Performance						13.66
	Programme duration (r	nin): 2	Time Adjusted	Championship Wo	orld Ranking Score	6.83

	Solo I	Free Dance			Level:	3
Competition:	Inclusive Skating Virtual V	orld Championships 20	024		•	
Skater:	Jennifer Slater	Sex:	Lady		رم	ТМ
Age January 1st:	26	Age category:	Senior			-
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	Off-ice				JIMI	1110
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements For Official Use Only					I Use Only	
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			3.1	1.033	3.7	3.822
Pose (3 to 6 seconds)			2	0.667	4.7	3.135
Step sequence (straigh	t line, full ice surface, basic	F + B 3 turns etc)	2.6	0.867	1.9	1.647
One position Dance Sp	in (no change of foot)		2.6	0.867	1.9	1.647
Total Technical Elem	ents		Total judges scor	re for elements		10.251
			Factor	WPI	WPI incl age	
Impairment Compen	sation (20 x WPI)		20	0.00%	0.00%	0.000
Technical Skating Sk	tills (Factor x Score)		1.5		2.3	3.450
Artistic Performance	& Execution (Factor x S	core)	1.5		2.5	3.750
Deductions						0.00
Total Score for Performance						17.45
	Programme duration (min): 2	Time Adjusted	Championship Wo	rld Ranking Score	8.73

	Solo	Free Dance			Level:	3
Competition:	Inclusive Skating Virtual	World Championships 20)24		•	
Skater:	Jennifer Lee	Sex:	Lady		C	ТМ
Age January 1st:	26	Age category:	Senior			-
Club:		Country:	UK		INCLUS	SIVE
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIAI	ING
					Grade of	
			IJS Base	Technical	Execution	Mark awarded
Elements						
Level 3						
Twizzles, 1 Foot or 2 fee	Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			1.033	4	4.132
Pose (3 to 6 seconds)			2	0.667	3.5	2.335
Step sequence (straigh	t line, full ice surface, basi	c F + B 3 tums etc)	2.6	0.867	4.2	3.641
One position Dance Sp	in (no change of foot)		2.6	0.867	4.9	4.248
Total Technical Elem	ents		Total judges sco	re for elements		14.356
			Factor	WPI	WPI incl age	
Impairment Compen	sation (20 x WPI)		20	35.00%	35.00%	7.000
Technical Skating Sk	ills (Factor x Score)		1.5		3	4.500
Artistic Performance & Execution (Factor x Score)		1.5		4	6.000	
Deductions						0.00
Total Score for Performance						31.86
	Programme duration	(min): 2	Time Adjusted	Championship Wo	orld Ranking Score	15.93

	Solo F	ree Dance			Level:	3
Competition:	Inclusive Skating Virtual Wo	orld Championships 20	024		•	
Skater:	Meg McFarlane	Sex:	Lady		رم	TM
Age January 1st:	20	Age category:	Senior			-
Club:		Country:	UK		INCLUS	
Paralympic Class:	Intellectual	Facilitation:	Independent		SKATI	
Support needed:	Off-ice				JIMI	1110
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Officia	I Use Only		
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			3.1	1.033	0.7	0.723
Pose (3 to 6 seconds)			2	0.667	2.55	1.701
Step sequence (straigh	t line, full ice surface, basic F	+ B 3 turns etc)	2.6	0.867	1.9	1.647
One position Dance Sp	in (no change of foot)		2.6	0.867	2.3	1.994
Total Technical Elem	ents		Total judges sco	re for elements		6.065
			Factor	WPI	WPI incl age	
Impairment Compen	sation (20 x WPI)		20	60.00%	60.00%	12.000
Technical Skating Sk	ills (Factor x Score)		1.5		2.35	3.525
Artistic Performance	& Execution (Factor x Sco	ore)	1.5		2.5	3.750
Deductions						0.00
Total Score for Performance						25.34
	Programme duration (mi	in): 2	Time Adjusted	Championship Wo	orld Ranking Score	12.67

	Solo Fi	ree Dance			Level:	3
Competition:	Inclusive Skating Virtual Wo	rld Championships 20	024		•	
Skater:	Roxanne Small	Sex:	Lady		رم	ТМ
Age January 1st:	27	Age category:	Senior			-
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	None				JIMI	1110
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements	Elements				I Use Only	
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			3.1	1.033	1.8	1.859
Pose (3 to 6 seconds)			2	0.667	3	2.001
Step sequence (straight	line, full ice surface, basic F	+ B 3 turns etc)	2.6	0.867	1.9	1.647
One position Dance Spi	n (no change of foot)		2.6	0.867	2	1.734
Total Technical Elem	ents		Total judges scor	re for elements		7.241
			Factor	WPI	WPI incl age	
Impairment Compen	sation (20 x WPI)		20	0.00%	0.00%	0.000
Technical Skating Sk	ills (Factor x Score)		1.5		1.5	2.250
Artistic Performance	& Execution (Factor x Sco	re)	1.5		1.4	2.100
Deductions						0.00
Total Score for Performance						11.59
	Programme duration (mir	n): 2	Time Adjusted	Championship Wo	rld Ranking Score	5.80

	Solo	Free Dance			Level:	3
Competition:	Inclusive Skating Virtua	al World Championships 20)24		•	
Skater:	Thea Harding	Sex:	Lady		ارم	TM
Age January 1st:	10	Age category:	Pre-Novice			\supset
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	None				JIMI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Officia	I Use Only		
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			3.1	1.033	2.4	2.479
Pose (3 to 6 seconds)			2	0.667	3.75	2.501
Step sequence (straigh	nt line, full ice surface, ba	sic F + B 3 turns etc)	2.6	0.867	2.5	2.168
One position Dance Sp	oin (no change of foot)		2.6	0.867	5.3	4.595
Total Technical Eler	nents		Total judges scor	Total judges score for elements		
			Factor	WPI	WPI incl age	
Impairment Comper	nsation (20 x WPI)		20	0.00%	0.00%	0.000
Technical Skating S	kills (Factor x Score)		1.5		1.6	2.400
Artistic Performance	& Execution (Factor)	(Score)	1.5		1.3	1.950
Deductions						0.00
			Total Sco	ore for Per	formance	16.09
	Programme duratio	n (min): 2	Time Adjusted	Championship Wo	orld Ranking Score	8.05

	Solo I	Free Dance			Level:	3
Competition:	Inclusive Skating Virtual V	Vorld Championships 20	024		•	
Skater:	Rhea Sinar Mas	Sex:	Lady		رح	ТМ
Age January 1st:	39	Age category:	Senior			\supset
Club:		Country:	Indonesia		INCLUS	SIVE
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	None				JIMI	ii d
	•				Grade of	
			IJS Base	Technical	Execution	Mark awarded
Elements			For Officia	I Use Only		
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			3.1	1.033	3.5	3.616
Pose (3 to 6 seconds)			2	0.667	4.7	3.135
Step sequence (straigh	t line, full ice surface, basic	F + B 3 turns etc)	2.6	0.867	3.35	2.904
One position Dance Sp	in (no change of foot)		2.6	0.867	4.75	4.118
Total Technical Elem	nents		Total judges scor	e for elements		13.773
			Factor	WPI	WPI incl age	
Impairment Compen	sation (20 x WPI)		20	0.00%	0.00%	0.000
Technical Skating SI	kills (Factor x Score)		1.5		3.45	5.175
Artistic Performance	& Execution (Factor x S	core)	1.5		3.6	5.400
Deductions						0.00
			Total Sco	ore for Per	formance	24.35
	Programme duration (min): 2	Time Adjusted	Championship Wo	rld Ranking Score	12.17

	Solo Fr	ee Dance			Level:	3
Competition:	Inclusive Skating Virtual Worl	d Championships 20)24		•	
Skater:	Arlene Chatterton	Sex:	Lady			TM
Age January 1st:	56	Age category:	Master			-
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	None				JIMI	ING
			IJS Base		Grade of	
				Technical	Execution	Mark awarded
Elements				For Officia	ıl Use Only	
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			3.1	1.033	2.7	2.789
Pose (3 to 6 seconds)			2	0.667	4.45	2.968
Step sequence (straigh	t line, full ice surface, basic F +	B 3 turns etc)	2.6	0.867	3.85	3.338
One position Dance Sp	in (no change of foot)		2.6	0.867	4.1	3.555
Total Technical Elem	anta		Total judges see	ro for alamanta		12.650
Total Technical Elem	lents		Total judges scor		WDI in all a se	12.000
			Factor	WPI	WPI incl age	
Impairment Compen	sation (20 x WPI)		20	0.00%	16.00%	3.200
Technical Skating Sk	tills (Factor x Score)	•	1.5		3.7	5.550
Artistic Performance	& Execution (Factor x Scor	e)	1.5		4.1	6.150
Deductions						0.00
	Total Score for Performance					
	Programme duration (min): 2	Time Adjusted	Championship Wo	orld Ranking Score	13.78

	Solo	Free Dance			Level:	4
Competition:	Inclusive Skating Virtua	I World Championships 20	024		•	220.000
Skater:	Caitlyn Baxby	Sex:	Lady		١	ТМ
Age January 1st:	15	Age category:	Junior			\supset
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIMI	ind
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 4						
	1 foot + more on 2 feet o	n any edge, c				
+ cc, max 3 linking steps			4.6	1.533	5.1	7.818
Pose (3 to 6 seconds)			3	1	5.3	5.300
	it line, full ice surface, do	uble 3 tums, twizzles +				
more adv. Turns)			4.1	1.367	6	8.202
One position Dance Sp	oin (no change of foot)		3.6	1.2	4.5	5.400
Total Technical Elen	nents		Total judges scor	re for elements		26,720
			Factor	WPI	WPI incl age	
Impairment Compen	sation (30 x WPI)		30	5.00%	5.00%	1.500
	kills (Factor x Score)		2.5		3.85	9.625
Artistic Performance & Execution (Factor x Score)		2.5		4.3	10.750	
Deductions	•	,			•	0.00
			Total Sco	ore for Per	formance	48.60
	Programme duratio	n (min): 2	Time Adjusted	Championship Wo	orld Ranking Score	24.30

	Solo F	ree Dance			Level:	4
Competition:	Inclusive Skating Virtual Wo	rld Championships 2	024		•	220.000
Skater:	Emily Poulton-Smyth	Sex:	Lady		١	ТМ
Age January 1st:	19	Age category:	Senior			-
Club:		Country:	UK		INCLUS	SIVE
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIAI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 4						
	foot + more on 2 feet on an	y edge, c				
+ cc, max 3 linking steps			4.6	1.533	3.95	6.055
Pose (3 to 6 seconds)			3	1	5.2	5.200
Step sequence (straight more adv. Turns)	t line, full ice surface, double	3 turns, twizzles +	4.1	1.367	4	5.468
One position Dance Spi	n (no change of foot)		3.6	1.2	6.1	7.320
T (1 T 1 T 1 T 1 T 1 T 1 T 1 T 1 T 1 T			I=			04.040
Total Technical Elem	ents		Total judges sco		MAIDL Seed and	24.043
			Factor	WPI	WPI incl age	
Impairment Compens	sation (30 x WPI)		30	5.00%	5.00%	1.500
Technical Skating Sk	ills (Factor x Score)		2.5		3.4	8.500
Artistic Performance	Artistic Performance & Execution (Factor x Score)		2.5		3.65	9.125
Deductions						0.00
			Total Sco	ore for Per	formance	43.17
	Programme duration (mi	n): 2	Time Adjusted	Championship Wo	orld Ranking Score	21.58

	Solo	o Free Dance			Level:	4
Competition:	Inclusive Skating Virtu	ıal World Championships 2	024		•	
Skater:	Teddy Weston	Sex:	Lady		C	ТМ
Age January 1st:	12	Age category:	Novice			-
Club:		Country:	UK		INCLU:	SIV/F
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				SKAI	INU
					Grade of	
			IJS Base	Technical	Execution	Mark awarded
Elements				For Officia	ıl Use Only	
Level 4						
,	1 foot + more on 2 feet	on any edge, c				
+ cc, max 3 linking steps			4.6	1.533	3	4.599
Pose (3 to 6 seconds)			3	1	4	4.000
	ht line, full ice surface, d	ouble 3 turns, twizzles +			_	
more adv. Turns)			4.1	1.367		
One position Dance S	pin (no change of foot)		3.6	1.2	2	2.400
Total Technical Ele	ments		Total judges sco	re for elements		15,100
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (30 x WPI)		30	5.00%	5.00%	1.500
	Skills (Factor x Score)		2.5		2.7	6.750
Artistic Performance & Execution (Factor x Score)		2.5		2.9	7.250	
Deductions	,	,		4		0.00
			Total Sc	ore for Per	formance	30.60
	Programme durati	on (min): 2	Time Adjusted	Championship Wo	orld Ranking Score	15.30

	Solo Fr	ree Dance			Level:	4
Competition:	Inclusive Skating Virtual Wor	d Championships 2	024		•	
Skater:	Sophie Carter	Sex:	Lady	Lady		TM
Age January 1st:	23	Age category:	Senior		١	\supset
Club:		Country:	UK		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIMI	1110
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Officia	I Use Only		
Level 4						
· ·	foot + more on 2 feet on any	/ edge, c				
+ cc, max 3 linking steps			4.6			3.833
Pose (3 to 6 seconds)			3	1	1.8	1.800
, , ,	line, full ice surface, double 3	3 tums, twizzles +		4.007	4.05	4.700
more adv. Turns)			4.1	1.367	1.25	1.709
One position Dance Spi	n (no change of foot)		3.6	1.2	2.9	3.480
Total Technical Elem	ents		Total judges scor	re for elements		10.822
			Factor	WPI	WPI incl age	
Impairment Compens	sation (30 x WPI)		30	0.00%	0.00%	0.000
Technical Skating Sk			2.5		2	5.000
Artistic Performance & Execution (Factor x Score)		2.5		1.6	4.000	
Deductions	,	•				0.00
			Total Sco	ore for Per	formance	19.82
	Programme duration (mir	n): 2	Time Adjusted	Championship Wo	orld Ranking Score	9.91

	Solo	Free Dance			Level:	5
Competition:	Inclusive Skating Virtual V	Vorld Championships 20	124		•	- /
Skater:	Sophie Ravenscroft	Sex:	Lady		ی	TM
Age January 1st:	16	Age category:	Junior			5
Club:		Country:	UK		INCLUS	
Paralympic Class:	Physical	Facilitation:	Independent		SKATI	
Support needed:	Off-ice				JIMI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 5						
Twizzles, 2 rotations on any edge, c + cc, max 3 linking steps, additional						
features permitted			5.6	1.867	2	3.734
Pose 1 (3 to 6 seconds)			3	1	4	4.000
Pose 2 (3 to 6 second	s) ht line, full ice surface, brack	ata turissia a sana a du	3	1	3	3.000
Turn)	nt line, full ice surface, brack	ets twizzies more adv.	5.6	1.867	0.3	0.560
	nange of position and one cl	nange of	3.0	1.007	0.5	0.500
foot permitted)	д с от р с от с т т т т т т т т	9	4.6	1.533	4.5	6.899
					•	
Total Technical Elei	ments		Total judges scor	e for elements		18.193
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (40 x WPI)		40	17.00%	17.00%	6.800
Technical Skating S	kills (Factor x Score)		2.5		1.8	4.500
Artistic Performance & Execution (Factor x Score)		2.5		1.95	4.875	
Deductions						0.00
	_	_	Total Sco	ore for Per	formance	34.37
	Programme duration (min): 2.25	Time Adjusted	Championship Wo	orld Ranking Score	15.27

				Baseu OII Technic	ai Hallubook 2022, 7til	eu. upuatu 17.1.2023
	Solo	Free Dance			Level:	5
Competition:	Inclusive Skating Virtu	al World Championships 20	24		•	
Skater:	Vilma Mellegard	Sex:	Lady	Lady		ТМ
Age January 1st:	14	Age category:	Advanced-Novice	Э	١	
Club:		Country:	Sweden		INCLUS	
Paralympic Class:	Physical	Facilitation:	Independent		SKAT	INC
Support needed:	Off-ice				SKAII	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 5						
Twizzles, 2 rotations on any edge, c + cc, max 3 linking steps, additional features permitted			5.6	1.867	6	11.202
Pose 1 (3 to 6 seconds)			3	3 1	7	7.000
Pose 2 (3 to 6 second			3	3 1	2.3	2.300
Step sequence (straig Turn)	ght line, full ice surface, br	ackets twizzles more adv.	5.6	1.867	5.1	9.522
One Dance Spin (1 C foot permitted)	hange of position and on	e change of	4.6	1.533	8	12.264
Total Technical Ele	ments		Total judges sco	ore for elements		42.288
			Factor	WPI	WPI incl age	
Impairment Compe	ensation (40 x WPI)		40	50.00%	50.00%	20.000
Technical Skating	Skills (Factor x Score)		2.5	5	5.4	13.500
Artistic Performance & Execution (Factor x Score)		2.5	5	5.75	14.375	
Deductions						0.00
			Total Sc	ore for Per	formance	90.16
	Programme duration	on (min): 2.25	Time Adjusted	d Championship Wo	orld Ranking Score	40.07

				basea on recinite	ai Hallubook 2022, 7til	ca. apadta 17.11.2020
	Solo	Free Dance			Level:	5
Competition:	Inclusive Skating Virtual	World Championships 20	124		•	
Skater:	Cameron Sargent	Sex:	Gentleman		<u>ا</u>	ТМ
Age January 1st:	22	Age category:	Senior			
Club:		Country:	UK		INCLUS	
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				SKAII	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 5						
	on any edge, c + cc, max 3	linking steps, additional				
features permitted			5.6	1.867	5.15	9.615
Pose 1 (3 to 6 seconds)			3	1	5.3	5.300
Pose 2 (3 to 6 seconds)			3	1	5.2	5.200
	tht line, full ice surface, bra	ckets twizzles more adv.				
Turn)		,	5.6	1.867	4.5	8.402
foot permitted)	hange of position and one	change of	4.6	1.533	5.1	7.818
Total Technical Ele	ments		Total judges scor	e for elements		36.335
			Factor	WPI	WPI incl age	00.000
Impairment Compe	ensation (40 x WPI)		40	39.40%	39.40%	15.760
Technical Skating S	Skills (Factor x Score)		2.5		4.2	10.500
Artistic Performance & Execution (Factor x Score)			2.5		4.5	11.250
Deductions	,	,				0.00
			Total Sco	ore for Per	formance	73.85
	Programme duration	(min): 2.25	Time Adjusted	Championship Wo	orld Ranking Score	32.82
			•			

Solo Free Dance					Level:	6
Competition:	Inclusive Skating Virtual World Championships 2024					
Skater:	JulianaSweeney-Baird Sex:		Lady		I	ТМ
Age January 1st:	20	Age category:	Senior			3
Club:		Country:	UK		INCLUSIVE	
Paralympic Class:	Visual	Facilitation:	Independent			
Support needed:	Other		- SKAI			ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Official Use Only			
Level 6						
Twizzles, 3 or more rotations on any edge, c + cc on any						
edges, max 3 linking steps, additional features permitted			6.6	2.2	7	15.400
Combination Pose 12 secs with max 1 linking step (each pose min 3 seconds)			4	1.333	7.3	9.731
Choreographic dance element			5.1	1.7	8.5	14.450
Step sequence (straight line or curved, full ice surface, counters, rockers, twizzles etc)			7.1	2.367	7.75	18.344
One Dance Spin (all permitted)			5.6	1.867	8	14.936
Total Technical Elem	Total judges score for elements			72.861		
Total Tooliilloui Ziolii	01110		Factor	WPI	WPI incl age	72.001
Impairment Compensation (50 x WPI)		50	63.00%		31.500	
Technical Skating Skills (Factor x Score)			2.5		7	17.500
Artistic Performance & Execution (Factor x Score)			2.5		8.25	20.625
Deductions				0.00		
Total Score for Performance						142.49
Programme duration (min): 2.5 Time Adjusted Championship World Ranking Score						56.99